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April 29, 1999 



Write all answers in your blue book. Show all of your work. 






1. Consider the IS-LM model for a closed economy. 

(a) (20pts) Derive the LM curve 

(b) (15pts) With reference to an IS-LM diagram, explain what happens to real aggregate output when the Federal Reserve decreases the money supply. Be sure to explain why aggregate output changes in the way you describe. 




2. Consider the monetarist worker misperception model. 

(a) (10pts) Draw the aggregate demand and aggregate supply diagram (AD-AS) for this model. Explain what causes the shape of the short run aggregate supply curve. 

(b) (15pts) Do monetarists recommend active attempts to smooth the business cycle? Explain why or why not, with reference to an AD-AS diagram. 

(c) (10pts) Define the Natural Rate Hypothesis, and explain whether the monetarists adhere to the Natural Rate Hypothesis. 




3. Consider the Real Business Cycle (RBC) school of thought. 

(a) (20pts) Explain (thoroughly) how technology shocks are related to business cycles, according to this theory. 

(b) (10pts) What evidence does the Solow residual provide to support the RBC claim about the relationship between technology shocks and changes in output? Be sure to define the Solow residual in your explanation.
